Miq, P St Nglfg Total Ngf:g NObs  Z_score NES; €1.Q,
(GeV) (GeV) (GeV) | L(stat) £ (stat) = (syst) = (stat) (%)
Central channel: || < 0.9
200 35 410 | 85+1.0 128 £5+25 105 -1.0 53+21 0.04
250 35 410 | 85+1.0 128 £5+25 105 —-1.0 252+24 0.58
300 50 470 | 42+05 399+29483 27 -15 153+11 098
350 50 490 | 40+£05 346+274+71 25 —12 924+56 145
400 65 680 | 09+0.2 72+124+17 4 —-1.0 284+21 1.00
450 65 700 0.84+0.2 63+11=+1.6 4 -08 173+11 1.27
500 65 770 | 05402 32+08+0.8 4 +0.5 98+06 143
550 65 800 | 0.4+0.1 27+08=+0.6 4 +0.7 6.1+03 1.71
600 65 850 | 0.24+0.1 1.8+0.6+£04 3 +0.9 36+02 1.85
650 65 850 | 0.2+0.1 1.8+0.6£04 3 +0.9 22+01 199
700 85 850 | 0.1+0.1 1.14+05+£03 2 +0.8 1.34+0.1 2.02
750 85 850 | 0.1+0.1 1.1+05+£03 2 +0.8 08+0.1 220

800 85 850 | 0.1=+0.1 1.1+05+03 2 +0.8 0501 280

Forward channel: |7ﬂ >0.9

200 35 410 | 42+£05 72+44+15 87 +1.1 — —

250 35 410 | 42+05 72+44+15 87 +1.1 50+11 0.11
300 50 470 | 18+£03 203+22+£39 23 +0.5 334+£52 021
350 50 490 | 1.7£03 182+20+£35 19 +02 185£25 0.29
400 65 680 | 0.7+0.2 27+£07+0.6 1 -0.9 6.1+10 021
450 65 700 | 0.7£0.2 23£0.6+04 1 -0.7 3805 0.28
500 65 770 | 0.5£0.1 1.2+04+0.2 1 0.0 1.6+02 0.24
550 65 800 | 04=+01 09+04+0.2 1 +0.3 1.2+£02 032
600 65 850 | 03+0.1 06£03=£0.1 1 +0.6 0601 0.29
650 65 850 | 03=+0.1 06+£03=x01 1 +0.6 03+0.1 0.26
700 85 850 | 0.1+0.1 04+02=x01 0 —-0.4 02£01 0.28
750 85 850 | 0.1x+0.1 04+£02=£01 0 —-04 01+£01 035
800 85 850 | 0.1=+0.1 04+02=£01 0 —-04 01+01 0.36



